Sr Questions Answers Choice

A Gl L (sene
.

D. uw &S

2 S ELE Qupdple,
3 =0 oy sh sk

4 = US 10) JaS o i 1S o (e 3330 5 236 sl (55 S o e,

S
il
e

5 =S Dl S el ) S il e 5 5 72 (B S o e,

= Jesg 2alia

o S aalia

= SR e s

U S8 Jbandl g sy S

6 = GRS Al 5l cy pliale,

ol
PSS
el

o i g

7 = Gl IS bl

b

e SRS
sl
KN

8 O 8 158 5y e s (B35 (S Gl Vs

oy sl gy 530

9 £ 5 55 alass o he 02 5m 50,
= o8 (S alaw (pe ey s35a 50 Y

S

10 s T e Vs al BV G s S S 3 aalldae S ale G,

1 08 K S o sn S Sl pls S L i nas (S (B il Ey s
i BS
el
BLEe
allaaly

12 = BS Goso H SSS S ay e SS S s e el e,

e alaie) 38 5l Y
S ) e
o em s sl Y
w8

13 = e 35n s 0 pdlaa,

G ) 5 bl

Gale e (g
alaiel 2
sy S s

14 = B8 1 (s Gl Syl ple,

350
)
. g8l

15 U G S o g eald € Slan (ul 03l o o (e Cu ) g

ODOU» DO® > DO®EP DOWP DOTP DOUP DO®F UOUP» DO0UP 0U0®r DO®P» DO®E» 00®» UO0D;






